Friendship Junior High School
Sixth Grade Advanced Math Packet

(TDP Pull-Out Program)

Algebra Units 1-5

Working With Integers
Order of Operations
Evaluating Expressions
Solving Equations
Problem Solving




UNIT 1: ANSWER KEY

Working With Integers

O -4 @ @4
@ <2 5] @ 3 [<] 9

(D H-—H bt i @ -3 K] 3 @ 4[] -2
@ TR @ -5 [5]-5 @ o [3]-I
L B
-7 = - 2 &

® 7 413 o 5 E
@ R S ST 2. ADDING INTEGERS

@ RS R R R DEe)+E)=-2 D ®+r@)=17
© cHHHete e @ Drn=Y4 @ s5)+0N) =6
2-101 2 ©) ) +(3)=-3 @ () +C10) =-3
@ oN+@ =13 @ 2)+CR)=
g :.: %} ;:s g z:s ® D+E)=0 @ =)+@)= 4
@yes Do @ yes ® @+E9= @ @ +CN=-3

@ C3)+E)="12 @ @)+ (=) =-10
@ (e} (-4)=2 @ O+ (=)=5
@ (O)r(=2)=-3 @ (L)+@)=14
© FEN+EE)=-12 @ D=5

Be sue to show all steps:

@D G+ (Y + X + G+ (=)
(-lo) + (8) = -8

@m+c~m+m+m + (=%)
7+ 4)d= 17

@ BT+ (65 + G + U1 + (A
-+ ()= 0O




UNIT 1: ANSWER KEY

Working With Integers

@) G3Y + P+ GEY +( + (&)
ED)+ D) =0

ED (67 + ) + (3T + 4T+ )
-a)+ (7) = -2

€ 7))+ GX) + L) + 53+ GX)
Ein) % Oay = -

&) GV+ B3+ G+ + S

)+ 02) =2

2 (=40) + (1) + Caf + C&Y + (47

a) + (=) =0

D (L)-C-4) @)+() =l
C6) + () =10
@ Go)-H)
@ 2)-(7) Qo)) =14
(-3)+E1)=-10
© (7)-(b)
3 (=)+E)=-17 (D) +()=]
O C+EE)=-1 ODNEDH8)=-I5
® +(=4 @ )¢
~a)+(6)=-3
7)-(4a)
D+q)=2 @) (B)+(-6)=0
% ~2)-@
D rrgahen: BT 2

@) -612) ® G)+E9)=-6
1)+ 0)=5
) =-||
® )+ 69 =6 B EeheR)
T 20 (-10) - (=&)
e e G ! - a,
(-9)+()2)=2 Gio) +(2)=-2

@) (-2)+ (=6)—(-8)-(-5) + (1)
(=¥ + &) +(2) + (=3 +(4)
D+ 07) = 8

@ (5) -~ (-4) ~(2) +(-6) -(3)
(23 + () + G2 + (8) + G2
-1y +@) = -2

@ EN-E2) +¢2)~(8)~C))
CA+ G55 + &) + CB) +e1)
G+ = -10

@Y )+ 2)-(-5)~Fb)-(4)
&) + G+ (B) + WY+ CA)
=9)+n) =2

GS) 1) -(5) = (-6) + (4)
) 4+EE) +C) + (4)
=W+ o0Yy=-2 5



UNIT 1: ANSWER KEY

Working With Integers

(6)~(6) +(0)-(-b)
(5 + () 4 (=8 + ()
~R)+02) =0

@ (-10) + (=8)=(=7)- (12) + (-5)
(=155 + =&Y + (A + (2 + (5
-28)+ (7) = -28

@ (-6) -Cu)-04)+(z0)-(-12)
Y + O+ o + (e + ()
(-=20)+ (26) = |l

@) G+ (=)-F)-(6)+(3)
4+ T+ 0 + sy + %)
-1s5)+02) = -3

G (-8)-(-8) +(=&) - (&) +(-8)
&7+ (B + GB) + &) + =)
~32)+ (8) = -24

4. MULTIPLYING & DIVIDING

@D ©)xES)= =30 @ ©2)x()= 2)
@ E)yxE)= 24 ®EDFM)=-3
A DH+rEN=1 DEDFE)=-5
(D @)Y+ E)= 3 @ (2) x 5)= -0
® @2)x(@)= -6 A E@)xE7)= 44
@ F)x)=3 @)= 2

@ @)+ )= 4 B )+E)= 2

® @)+ )= - ® EH x (2)= -42

@ Co8)= 20 @ E3y—()
(28)+ (5)= 5 )+ = -7

@® 55)+ =5 € 02D+E6)= 6
@ (4)x =42 €OEB)~(2)=-H

3 e “2)—(-%)
@) 2)+E8)= -l @{:.}4-(3]: ;
@E:Zg :;CE:‘?T- -4 (-10) x(3)=-30

@("ID)+(;3}: 3
@ N (=t D E)-CH)
{EB ""'CEJ = |l+
[--VES.THATwauLDa
ASKING TOO MOCH |

@) ((2) x(-N) x(3) x(2) = 12
@ ) x @) x (1) x(-) = ~2
@) 5)x()* (3)x(@)=-30
@) C4)x E3) x (2) * 1) = 24
@ (C) + ) ~(3)+ ()~ (1)

&) + G+ @5 + 05+ 05
2)+04) =12 -




UNIT 1: ANSWER KEY

Working With Integers

(0) =(-3) ~(H) +7) -(-2) @) <ot eetrtro——r—tt>
(_];’34-(.3%(%-'-(7?%61’5 =t rd 8

i)+ (8) =4

“ ® ves @) R)x(H)= 12

G) () x ) x @)X xE)) = 24 @ no A i) =8
) () - +G)+5) -F2) @ no @ 8)-CH)

Eg;+w+ﬁa"§)+&5’5+m ® yes 2)+(4) = -4

5)+(2) =7 @ yes &) E)rCT)= 2
@ (1) + 8) —(=13) + (&) -=I0) @ no @ o) = (-1)= 10

(~x)+ G8T+ O3) + (L) +02)

Ean S w31 E ) M -2 KKlo @ (&)-(6)

@ -4 )7 (g)r(6)=14

@ Dx xEDXE) xE) = -

| ® 7R 6 b= (2)=36
m ] | @ -8 -6 G 2)-(-9)

@ -2 [3]-I0 -2)+0q)=7
gﬂ@m WQ ® 2 E-3 E) -5)+0>)=8

@ @)+E7=-10 (33 (3) x(5)=-40
® C-B)THF = @A ) --4)
(a)+ )=-3 (b)4+(14) =20
@ (12)-(-b) e
F12) +(b)="0 i
& @-aie B
S R el 57 ( =
) W”'E" > P ) +(10)=2
oEETTT agum G
©) 4-}-{»-4—»—; :_;: e}:;:;—-n-H—%* )+ ()= =

-4-



UNIT 1: ANSWER KEY

Working With Integers

@ (20)+(HN=-5 @@ (2) ~(-B) + 1) - (-2) ~ (&) + (4)

XY+ (BI+ G+ + ) + (1)
@ (13)+F10)=2 Cle)+ () = -5

@ =3) -(8) € (2)—(8) +(=3)—(-5) + (-12)
(-5)+(R)=3 62) +(&Y + (X)) + (3T + (=)
25+ (5) =-20

@ (-16) = 8)=2

@) (~2)-(-))
E3)+()) ==&

@) (2) +Q)-(-5)-71-(8)
X)) +C2) +(2) +C+ ()
i)+ 02) =-)

@ ) -2+ E6)-(D)-(2)
CH D) +66) + GT) +(&Z)
1)+ (4) =-13

@O (-6)+ (F2)+(4) ~(=2) ~(6)
(25 + (=25 + () + (2 + (s
(=) + () = -8

@) (8)-(2) +(5) «(-6) + ()
(&) +(F + B+ (&) + (=4)
a) + (le) = 7
G8) (—2)x (Y% () x (D=2
G ()% ) x (2) x(4) =x(2)=-48
B (@) x (1) % () x D= =-16

B) (-2) %(2) (1) x(4) x (2)= 48



UNIT 1: ANSWER KEY

Working With Integers

® -n -3 ® -4 & -
@ C&)*F () = -2 ® (10) (-4 =5

@ D+ =-10 @ D)+ (+7) =85

@ 9) - 2) @ ) - G-
-a) + Gy = -7 =5) # =iy =6

® (-5)=(-a) =45 ) ) x (-12) = -u8

® (D-EH+EN-GE) -(i2) © %)+ () -7 -(3)-CA)
CR+ A+ G+ + (D) 55+ (D) + G + B+ A
G+ (28) = ~2% i)+ 1) = -l

SPECIAL iS MADE POSSIBLE BY
A GRANT FROM A GUILT-RIDDEN
CORPORATION !

. .THE FOLLOWING mrgmmmq




UNIT 2: ANSWER KEY

Order Of Operations

E

T
@ 4> = ¢t
® 5*= 25
B s =
@55=I1:r
© 3% = @
@ 25 = 22
®15 =
g = 1
® 6> = 216
@ 3° = 243
®@9* = 3l
® 422
@ 10> = 1000
@ 2° = 64
© 10" = 100
@ 1p* = lgEoo
(9 2% = ¢
@7 = |
@ g* = 6
@) 4™ = 2sb
@ gt =129

O =
@ n* =
@5 2% = 27
@ [l =
@ 24 = b
@) 6> = 36
@ |17 =
@ 9° = |
ED ) = 2
G )= 16
@ )%= -8
@ 3)*= 27
@ = b
6o (-5)°= |\
6D 2)°=-22
6 = |
@ (;—I‘D')!: ~000

2. LEARNING THE ORDER

O 6—-3 120

6— (5)

6+ ¢13)=-9
@ s+2-2)

2+ (—6)= 2

@ 6+68) T2

6+ =2

@ -2-E)E2)

-2-(b)
2+G6)=8

@ - -(7-3)

Lga (4)

—g+(-)=-12

@ }-(e+s)X)

g - CINED
g —(=11)
g +C1H=19

@) -9+ (H+)(2)

—q+(6)E2)
-9 + (-12)= -2

@ 4-3)=2)-5

e g 2 =
4+ (6)H5)
s)+00)= 5

® b+E)H)-CY)

4+ CE)-C1)
L+E2)+0)
CpH+= 713

@ lo-5-3-4

o- 15 -4
1O+ (ASYH)
1)+ (0)= —9

@-+E) (H-{2)

4+ ER)-62)
A+ (2)
)+ )=~

@-6t+€2)(52)

-6+ (2)(2)
~6+)="15

@) -8-(6): (3+7)

~g-(-6)-(10)
~3- (-60)
-2 +(ed)= 52

- -



B (b-2)-(&+5)
) -01%)
)+ 1) = o

(3-g) + (b-10)
S =N

@ 2* (3-5)
P~ (-2)
Ciy =2
(1) +@) =06

® P+ (=-7)
E1>+ =)
N+ 6E3)=-6

@ - =X3)
(N =03
¢y = (-10)
(Yy+0Qo)=1l

@ D+ ¥
=3)) + (1)
(a)+(1)= 10

Q) R)R)R)- iy
)Y -(-8)
)-8
—&)+(8)=0

@ (2-5)*+ G-
(=2)* + D3
@)+ (1)=2

UNIT 2: ANSWER KEY

Order Of Operations

53 (2) = D>+ (3)F
@ (w) -+ @)
Q) + N+ @) =14

@) )Y CHN=ED)
2)E2) -GG
(6)- D -(2)

(o) (4)+(2)=13

@ G-
2)(=2)- (-3)°

2)2) =)
-0
W +EN=3

@9 (-5)- o) FE)-(32)
(25) - CEYF (1) -3)
235)- (6)~(3)
GS)+(6)+(3)
~6)+H(28)= 22

2)°- (3-7)(-3)
@ 2)° -HED
()= (-HE3)
(1) -02)
+=2)= -l

@ DT
~6X) T (2)-(-8)
(L) + 2)-(-5)
(~3)- (-2)
3 (2) =5

@ OE)+ E)°
EN+CN=0

& ()t (2= ()"
(16) - 8) — ()
(e)+(8) +C4)
)+ 24) = 20

i1 A3
THIS IS JUST AROUTINE

CHeck ,SiR.... we're i
CRACKING DoWNONPEOPLE  EE
WHOTEAR OFF THOSE LiTTLE KS
TAGS ON THEIRMATTRESSES !

3. MORE PRACTICE

O RYRYD-(2)™
E3)(-2) (1) = CH)
(-6) - (%)
(-)+CH) = =IO

@ )= (-9 T2
Y- T a
- EhHsa
1) - )
cH+(=) =3



UNIT 2: ANSWER KEY

Order Of Operations

©NCHENE
C1y = |
(N+EH=0

B ey -kt
(H-@)-0
(D+E)+(1)
)+ (2) = =7

B (2)(-5)+)*- 2>
L))+ () - -8)
(0)+ (4)~-(-8)
o)+ (D +(8)=2

-2 (5-8)- (3)*
-2 (-3) -(-3)*
~2 (-3) - @)
(6)-(a)

(6)+ (F9)= -3

@ -3)%23%+ (D
(A)-9+@)
@)+ NH+@A)
)+ 0g) = 9

® -2y--D
-3(9)~ ()
=12y -0v)
(-2 + ) ="13

@ (3)-5)'-2*
-3N0O) -4
(-2) -4
(-3) +(-) =-7

® -21G-7)-¢2)

249 (-4Y-(-2)
-6 G1)-(2)
Clb)—-(-2)
Clo )+ () =14

@ =D D)
Ny -EN=-0a)
CD+CN)+ED
EN+0)= |

B C2P-EYXADE)
-8) -C3)-D ()
&)~ (12)
(-8)+(-12) =20

@-4% 4-EH
-l ~ 4= (16)
~lo + 1) +E16)=3%

@ (-3)"-(5-7)
(-3)*>-(-2)
(a)-(-2)
A +=)= 1l

(5 -22-5(-7)
-9 ~5(7)
-4- (-35)

-4 + (35)= 26

®-3°-(5)>5)
-1 =-0)-c5)
- +&DHB)
)+(B)=3

@) ~45=-lo
D= b
@ -22= -a7
@ -3*=-9
@ 2)*=-27
@ (-3)°=49
@ -a° =~
@ @)°= |
@ @)°=-32

L) -5% = —25
@ (5)*>=-)a5
@ (5)=25
@) -5°= -
@ =

PATIENCE
COMES To THOSE
WHO WAIT,




REVIEW & PRACTICE

UNIT 2: ANSWER KEY

Order Of Operations

@ CDHER)ED) = -6

| DONT @D (b8)=(2)°
D 2P=27 ® ) =1 HTEMONDAYS, (-1)’*;:&)“ -
: cq4)-C1)

@ 2°=22 D3 =9 'B%%GR e (4 )+ED= 2

@) @ THEWERK . & D)= (1)
TEE A% =iy ; L e

b ' {|)-C|)—C-i%

@ Cloy=loo @-4°= - (Y +(N+0

k S )+ = |
® ()=-21 ©O@E= |

@ -4-(2)2) CNA(49) @ (-2)(2)*-&)

-4~ (b) CIYP-(-3) 2) (4) = (=2)
—4+(=6)=-~0 ) -C3) (-8)-(-2)
DH+HE)=4 (=)Y+k) = -6

@ (69) -(2) :

(-3)-(2) @ Y- @ &) =)D
-2y + ()= (4) - 2)=2) -y~ CBY - (=1}
(H-(e) ()~ (2)

@ 2)-8 * (2) )+ (6)="2 (63 +(—8) = =14
)= -4 "
=3) + () = | ® D'y~ @ (2)(4) (-5) = ~60

(N ~(2)

@ EN-ENE) -=)-(-2) GH (-2)= )°E3)Y+(s-1)
()-(-3) H)=-b (=2)*- (2)°(2)* + (—6)
(2)+(2) = || R (- () AY+E6)

@)-2)"+2 (D= (ND+(6)

(® %-2(-4)-(b) ()~ (8)Fa B+ a)+(=6)

% - (-8) (-6) (-3)= (=) =15)+(4) = =1
s+ (&)He)=22 2+ = |

BT



UNIT 2: ANSWER KEY

Order Of Operations

LEAVE ME ALONE,
i'lL PHONE OUT Hap, AN

IF You PROMISE T
ANCHOVY PizzA

@) (W-6)*= 2"
(-2)% - (=2)3(5)°
)y - =8X(1)
4) - (-8)
(H+E)=Ix

G (3) -(R2)E2)E2)°
2} ==a =) ()
-2)-(16)
(-2)+ (1) =-19

@ (-2)-2%-2*
C2)-8 =14
(-2) +(8) + (=)= -4

G ~3F~E2)* - 3)
-9 - (@) =(-3)
-9+ (=a)+ (3)
~1g)+(2) = - IS

o

@Y Y =) =11
CY=(-1N-
CO+D+C))
D+ () = |

&) (a-12)*~ Cﬁ—ﬁ') (_—3)
(-3)* — (-2)>(=3)°
a)- 7))
a)- (27
(e))+ (27) = 3b

@@ )22 - () + -2
(&) () =)~ (-2)
22)— () ()
22~
(~32) + (1) = =33

G D)=29+ @2)3-2
()~ le + (-8) -4
(4)= [=23=4
(D+ )+
) +() = 2

MINDHmumrn
( JUSTGO FOR HELP i

..-.Il —



UNIT 2: ANSWER KEY

Order Of Operations

® 2% =32 O 3%= 8l
@ (3)*= -27 @ 9= 16
@ -3+[C0) ) A -g -2 -5
-2+ ('_|1) = =15 -8 _C-l‘)("",l _(._5)
-3 — (~2)-(-5)
@) c)HED T C3)-6) &+ @D+ GB) =-)
Ca)+ (+3) —(=+)
-5) + (2 + (D) ® -5 Q) (—2) +(%)
D+ -8 = | -2 ~[EDEY+ &)
-2)— (+8)+ 8)
@) (~6)° +E3)-(-2) -2y + (-8) +(~=) = ~18
(+1) + (-3) =)
y G IEHE -
(315 + G&3+(E) e
(+3)+(-3) = O (-12)+ () = -8

@) -3>-(2)+ () —(4+-6)
- (+2)- (-2)

@ 3Y-4°+ G
Ca - |+ [CD Y

2 -1 + (#12) -8 S
—q + (0 +(+2)
D+ +(012) (+3) + (=9) = -6

(+12) +(-28) = -G



UNIT 3: ANSWER KEY
Fvaluating Expressions

D a+rb+c ® b+oc +b
@)+ )+ ) (2D +EX-9) +2)
BYFE6) = =30 G+ (1) + -2)

)+ (b)Y = 4

Q@ b-a
-2 @ ac -ab
D +E)=-5 GYEY) -(30)

(-12) = (-6)

G b-¢C -n)+(6)=-b

2)-()
(D=2 © ch+ ac
1))+ (B)EY)
@ a + b-}cc ) (8)+(12)= -4
@)+ (=)-CH
)+ )+ () Ma-b-c
@) +E2)= 5 (2)-(-2)~C4)
(2)+ ) +(4)= 9
® c-ab
-4 - 3¥=2) (D ab -bc
- (-6) (2)E)-C0(H)
H+()=2 ¢6)-(8)
) +(&)=-14

@ oc +ab
@BEP+X2) Ba+brb+c
-1+ Cb)=-18 )+ () )+

| () + (D + )
Q) r::«-c:{;b . D+ =0
(2)=-(-)+(2
(2)~ (2) ™ abe
(3)+ (2)= | D)= 24

® c-hbc +ac
- +R))
()= (8)+(=12)
(-4) +=E)+(-12)= 24

® ab-akc
@) - (B)E(4)
(-6) = (2H4)
(-6)+ =24 = —30

b+ be = b
)+ 2D +(-2)
()4 (&) ~(=2)
2+ D= -6

® b-ab+c -bc
D)= (YD +H-(2)H)
)~ 6)+ED- (8)
G+ (6 )+ ) +(8)
P +e) = -8

READING i DONT MIND...
BUT MY LIPS MOVE WHEN
[ THiNK I

-3 -



UNIT 3: ANSWER KEY
Evaluating Expressions

a+b-c* o =5 (_—-l‘)-—(-l),#(_—lt)
3+ (@) - - (3) =(2) Gaiy= 1)
)+ ()~ -12) - 2) =)+ (-2) = =3
(2) +ED+ (G2 +(2)

& ab - (b-a)

(7)) +2) = 15
@) - () -(2))

@b"ﬂf;'i'b—a_b

(Y —()+E3))

€2) ~(B)ED) TE) -G it
(2)= (=12) = (2) = (3)(2) ()(2) — 5D

) = (b) - (2)(-2) (~&)- (- 5)_ .
- ) - Co) -L)+(5) =

D+ 6)+H()
cayaliy =

@ bCa-b)
2) ((3-C)
) ((z)+()
) (8) = -lo

@ (b<)+ (a-¢)
(2)-EN)+ (@) ~-C-1))

(=2)+ (D) + (GHY+HHY)
(2)+(7) =9
@ﬁ(b*“'ﬂ)_ﬂ- @ Cﬁl+b>—cc‘b>
G R eN) -6 ((+D)) = (D)
(~1&)-(3) S Es)
&)+ (-2) = -2 Al i
M+ () =3
@ (a+c) - b+ (a+c) .
((5}+{-43) -(=2)+= ((a.}-@- -3)) continved

S e



UNIT 3: ANSWER KEY

‘Evaluating Expressions

@ o (b+e)-bla-¢) @ 3xy (&) —(—b)
) (E@+E0)- ) ()- =) EYED(3)=-9 )+ = 12
(3)(~6)~ (-2) () +() @ yxz 0
2xy ~X+Y
(N -2 (D) HENE)=2 -DEY-EDHE)
-18)= (-1 EQ) ==+ ()
)+ O = -4 B y+ 2% EDHRDH ()
)+2E) e
G (a-b)(b+<) (1)+G1J=l CD+C)=-S
(- ) (@D +E) B i
(@)+2)) (7€) @ 2~ 2 “2)-2(2): 1)
(8)(—6) =730 (2)- 5(3) () -(e)-(=1)
¢2)=(15) (2)~(~¢€)
@mme oL STARING n:ra )+ (=17 D+ =4
@ 4Hy-x-27
_ 1@)-C) - 26) P3yrxty
AR - 02)=C1+ H) 33+ D+ ()
= = (12)~ () (@) 1)+ (6)
| —— () +(-H) =8 D+(e)=-3
;{ X+38 Y @ x-2y +2=
2D DH+2(R2)+ (3) (N-2z)+2(2)
(-DN+ )+ (2) (=)= (&) +(H4)
=N+ (=3)=-3 FOHE)+ )
@ Yn s x 5
HEDEYE)F ) ® ;’_‘ig o I 3’; 3
D 2x+ Y @ x-2z (zy)+(1)=23 . =
2y 03) B304 =2)-(a) -(-6)
. B =1y~ (=4) ® 2y-3% (2)+(=9) +(6)
3D+GRIZ0 Lhefey=3 2(2) - 3(-2) 1)+ (6)= -6

..lE-




*—y— %y
@ - (3)-4NC)
C)=-2) - (=12
{-1)+(—3”}+L¢1.)
H+02D)=8

@ 3Ca-b)
3 (-2)-(-D)
3 ((-22+N)
(- =-3

® 2(b+C)
2 (+ D)
2(H=06

@ 2a (zb=C)
2(-2) (Y - (W)
2(-2) (D +E9))
260 (-6) = 24

@ 2b (c-20)
3D () —2-))
3 (=) (@D -ED)
3(=1) (N =)
A=) (8) = ~ 24

@ (c+b) -3ab
() +N)-3EDH)
(-3)- (b)
=2)4+(=6) = =9

UNIT 3: ANSWER KEY

Tovaluating Expressions

@) (c-b)+4Hbc
() -E0)+HEXH)
((DH+()) + HEDE)
(s)+ HEDM)
(=) + (-16y= =l

&) 2ab (2a.+b)
3()0) RE+ )

2 (EIHD)

3(2ENEE)=-30

¢d 4b 3a-2¢)

4D (2)-a04))

Y (1) =(8))
G () +(8))
4@ )= 56

C‘l-}3 = -8

&) =

® 3xy™
BCHED*
@EHeD =l
4 x>z
WDEN*E2)
DENE2) =12

@ 3x*+ 9*
3Et+ o)
(D + -2
G)+s)= -5

@ z2xz-x"
2ENE)-ENT
26-NED-0O))
()-C1)
(b)+-1) =5

@ 3y=z-4*
32 (3) - 2)°
32 3)-Ch)
Qe)-(+)
a8)+ (4) =14

—l6=



UNIT 3: ANSWER KEY

FEvaluating Expressions

0 xy+3xty

ENE)+ 3 N2

ENEY+F 30DER)
(R)+(6) = -4

@) x*y*=a*
CDE )3
CNCH@) =26

@ 2xy3=
20-1)(-2)3F3)
2(-D(-B)(-3) = -43

() x*-2y*—2
ED*-22)*-(-3)
(H=-204)--3)
- (8)-=2)
(N+E2)+(3)
() +(-&) = -4

@ A% ~-4+ o
3N -+ R
(-1 - )+ ()
(-3)-(-2)+(Q)
(-3)+ (2) +(9)
FE)+aN=g

B 2xyz ~x>
2 (DEDE) -G
2-1)EYE)-O)
Glay-~C1
(-2 +CED =3

@©) xy°+ xy?
EDE)° + FX-)T

C-DO) + &0 64)
D+EH=-5

@ 3x*-x>+2°
3N+ F3)°
AD-EDF0)
GY-CN+0)
) - D
EYLDs M

@2ﬂ3—31+3)<
2223 +3H)
2G8)-(a) =21
(—16)—-(@)+(+2)
-16)= 3
(-l1e)+(3) = =13

(x+9)*
(en+2))*
(—3)" =

@ (y+ad?
(2)+E3))°
-5)2=-n25

FAINING ON MY PARADE
TS THe LIGHTNING
THAT GeTs To "-’i“f:'-ﬁ.‘

o

LW
Gt &=
e

@ 2Ca-n*
2(@E=2-0)*
2(=)+62)) <
2 (-s)*

2 (25) =50

@) 3c*(b-c)3
3ED(Y-60)3
3 (D)3 +))?
301 CH7
31 Cer)= 192

@D @)= (b-a)*
EDH-J- @G-y
2+ 1) = (3)+@)*
(2= (=)

(a) -(25)
@)+ (—25) = -6

@) 2ab (@a-c)t

26 () -¢0)*
2 (R (F)+)*®
2F)E)Y D3
22) (3) (1)

12

S



REVIEW & PRACTICE

() o=b
) - (-2)
N+ =a

(2D b—C
=)-(2)
+FE)= 5

G bC
ED+E3) )
D+ 6) =7

@ b-c+a
By l2YE G
) =(-2)
)+ (2) =)

@& b-ab
(2)-C)E3)
(-2)—-(3)
-3)+ (3) =-6

© c+ac
)+ (D)
(2)4+(=2)=0

D abe
NE2)E)=6

® ac-ab
Nl -GNE-3)
2)-(@)
FLH=R) =-S5

M 3xy

UNIT 3: ANSWER KEY

Evaluating Expressions

@ bc+a
@) + &)
-6)+@)=6

be - abcC
=2)(2) -EX3X=)
) -(6)
(~b)+(=6)==12

- =
2(=)E3)-)
(g)=(-1)
ag)+C1)=19

@ 2y -3 2
262)-3C))
-6)-(-3)
(-6)+(32)=-3

B 4x-29y+32
HE)-203) + 3¢)

) -(6)+(32)
=) - (2)
5)+(2) =-Io

@ 4y-bz TX
HE2)-6(EDFE2)
(H2) - 6) + 2)
1) - (3)
G12D+(3)

-5

LIKe ONE OF THe FAM|

MAYB2 S0...BUT He's Eg'
N
FOR TAX PURPOSES !

(5 5xz-39
s(2)=) -3(-2)
(o) -(-9)
C1o)+03) =19

242+ 32X
2D+ 3E)
()+(-6)=0

@ b7
=4

@® b3

D2-8

@ ab" A
(2))
(2)(16)=32

@ b3cH

23D
Y1) = -8

—|83-




UNIT 3: ANSWER KEY

Evaluating Expressions

2b*-3a €D 2(b-)>
2 ((;3.) Z—(&)C ) 3(2)-¢N)>
2(4)=-32 \ !
(&)-Ce) %G{};C 2)
() +(%)=2 3(-1)
@ Gc3-ab e
Em=10
6C13-GX) H (o)™ &) 2k > (o-b)
6D -X-2) (- @)™ 223 (@-)
6)—CH) 4 o)™ 2E2)(1)* (@)
(-6)+ (Hy=-2 e 2 Y1) ()
Zab e 4 (_i)h 3¢ 2ERYEDM)Y= b
20 1) Hia s Y-
2= 16 N @ (b-cy - 3b
: @ 2ab*(a+c) -~ 32>
@ 2a2b . 3@ (@) (E)+ )32 (2>
2(2)*(=2) 3(1)(_1)‘-(.) (-1)2~3C2)*
3(4)(-8)=-96 C<1>-3C%)
2RY(0Y =24 =15+ =12) =—I3
@ a’bc® =
()
DEAy=2
(a-b)* ol
(-(-2))
@+@)*
04 == b
@) (b+c)*®
(ED+EN)?
(=35*
3

it



UNIT 3: ANSWER KEY
Evaluating Expressions

PRACTICE TEST #1 PRACTICE TEST #2

O a+cC X4y +Z
2+E) =-3 = e.m:e ¥ (2
H+ER)="2
@ 3a - Rc
3¢-2) - 2(=) @ 4%x-5Y
(-&) - C.;_) "l’(—'l) -8 [‘-5)
() + (+2) =-4 -4 - (=52
~4) Fs) =
a+b-C
E2)+(2) — () G 2x+2y
)+ 623 + G0 2(-D*+263)
#F3)+E) = | (=) = —&
@ Ha -3c? @ 2x>-24
a¢2)-30-D° 2> -a3)
4(-2) - 3C-1D 3¢-1) —2(-3)
Cg) - 3) C3) - o
(-s) + (+3) = -5 (=2 +=C+6) =23
® 2a bct 5 ® Bx*y =
2C2)(2)*CD) 5E)*(-3)()
20 N0 = =16 5 (D E3)(R)= =30
@ He Ca~c)* 5 @) 2—\_—:’1(-3"'3)2'
HE) ) -(-1) 263) (&0 -3
- C—ag Ec—a{}) + ) 2¢3) (en+23)"
4= (- =
=0 = 4 e

2-3)(4) = -24

= JO~



UNITS 1-3: ANSWER KEY

Cumulative Review

D< @< @> @=
® )+ E7) =1
@ ) xE5)= 15

@ 8 -G9)
-8)+ CW) =712

(—6) —(=10)
(=) + GHo)= 4

@ (+n) —2)=-b
@ (—b) xG3)= 30

@ (2)-(-2)
)+ GE8)=D

@EH+E3) =5

@ (6) +H) - () - (-6)-(-B) +£3)
(g + () G +GLT+GE &)
G +EiB) =—|

@ (P () *GF)xEDRED= B

B G- +EN -+ G 5)
Cr 30 + (D + G+ GS+ G5)
G2o)+ (-4) =26

® % =27 @)’ =-8
@2"=16 @ @)= 4

o @—33 = =27

@)-s* =25 @ =6

@ 3) = G-+ = -lo
o -58° = —25
=
6, NOT ALL TAAT UNLSUAL— @) 7) = 49

OF ke ~PAMNE L CARTOON
ARALTERS HAVE
1 H

VoA

62 ()4E@x- 3
() (-12)=-63)
@D+ (E)

@ (o)-EBIHES) - (-2)
o) =B+ ()
)8 +(=6)

@8y +(-12) = =4

G l=8) T )-8 * (-6)]
H-U)
D+ED =2

@) [ ) - [EBY2)- -4)
@)= (&) =(-4)
(2) + (<o) + G-+)
*6)+ (=)= O

—2)—



UNITS 1-3: ANSWER KEY

Cumulative Review

@ Y~ 2P 3)
(a) - &>+ (1)
@) +EF)+0) = 18

G ) -2)=32"
CH=-(H -9
)+ EN+HED= 1T

@ ¢3)) - (DD’
+3)2) —(HED
()= (1)

(=b)+ ) =~2

@ (2) + P xY-37
)+ x (D) =@
(-2) + (1) =(9)

—2)+ (D + 9)
&0 ==10

69 —3* - (2)ENE3)-2*
-9 -[EED G-
-9 - (&)~
~q + o)+ =19

6D (-5) + EP ()~ (2)
5 = (R EH) —(-3)
(5) * (=)~ -8)
(-20)-(-8)

o)+ () = ~12

EO(R) = (=3)+ ED-62)°
(D )] = [ = =n- ()
(2)—- (3)-(4)

() +E2)+ )
(D)+E7)=-5

TEE e e

-l = ED=-CN=-CD
—| + GDFEDFGD
2)+ (-2) =0

a+b+C
D+ () + ()
(2)+ 3) =-]

@ 2a-2b
2~ 3(-2)
(-2) - (o)
-0+ F6) =4

M o +2b-C
D+ 2E2) ~(2)
N+ D =)
(-D+ED + (2) = =7

@ a-b+2c
-+ 22)
=D (=2)+ M)
D+ ED)+H) =5

-2



& a*-be
- C20R)
(D-E)
(D =EH)
(D+6)=5

@ o-b'c
D -EDR)
=D-HE
=D—-(3)
=9

@ 6+ 2bc
CD+2D (@)
D+ 2)=9

6D B*-o2c >
DG
CH=-H(Y)

(D-H)
(HHEDH=0

2@)-3(-2)
W-G6)
D+L)= 10

UNITS 1-3: ANSWER KEY

Cumulative Review

6 ¥*-xy

=2
(W) -(-6)
D+(6)=10

@ (x+9)*
@1} + (_—B‘J)l
D = |

& cyrn)”
(+6)
-5)=25

B x (y+x)
&) (&) +@)
G)(=l)==i

@) x-y+22
FD-E2)%2(=3)
(~D=-(2)+H)
D+ (0
(2)+ED=-5

€9 3x -y>
3CN-ED°
3D~ (4)
(=2) - (4)
C-3)+ )
-7

€0 2 (x+Y) - y*

2 (-n+ 2))— ("1-)1
2 (~3) - (1)

)= ()
(~)+ (~4) = —I0

D+ (+8) =7

mﬁw = =]
ARCLUMND HERED
e PROMWMISED THe wils
WE'D BEitie THEM T-sHIOTE"

Y (x+2) =2 (x+y)
40+ )2 (@)
4 (~9)-2(3)
(-16)—(~6)
(=16)+(+6) = -0

@ %2 4 L_jl T
D%+ 2+ 2)°
(V) + (4) + (9q)

N



UNITS 1-3: ANSWER KEY

Cumulative Review

2xy -y ® @)-CD*3) ® a*-2bc
2ENE) -(RIE) - (12) @P-2 E3)()
(4 ~ (6) D+ 12)=-H ()= 12)
(D+ (~6) =~ D+ )= e
il ® abc —2ab
C-2a
< ?"331 + 3Y -1+ @)= 8 R)ER)(2) - (23D
2E032)*+ 362) 3 ()= (12) =0
2 =EDE)+HRIE) D)3~
-€)+ (-6) = -1 CDE)-Q) ® 2a-2b+c* 5
et
.-2__ - —
@3xy*r22? @HEH=5 EL)= () ()

3() () + 2(-3)* o)+ (e) =1

2D+ 2(4)
-0+08)=6

M E2)+EN-)3)
ER)HHCI+ET) ® ﬂj‘)‘ ?1}1 £ 4
9y =-2 =3 2)
STIHED 4) - (a)- (&)
C)+ () + D= =9

@ a+ b-C
PRACTICE TEST
=)+ R)-(=2) (@) () - E)°ED°

D+E)+E2) ENO =1
(1) > 7 Xy~ (48)
(=2)+(+8)=5
@ (2% 5)=-3 15, o e ()4
® D -G7) 262+ 2 @ o) +E =
CD+E7)=-9 262+ (&) ClelHLOL )
e L)+ D+
@ P xG3)=-12 D+ (=7) = =3
® 2)+ 2)=6 @ 2 (a+b)
2 (2+(2))
@ @)=-8 2 (3)
@ -3*= -9 e



UNIT 4: ANSWER KEY

Solving Equations
MOMSIDINE

A5 B e -l

D x+15 =% @Il+n=16 BUTTON UP
x= -3 n=5
= -3 = -~V
@ a+8=-4 @ 1zro=-2
5 B o a=-14
5 45 -4 -9
@ n-5=-2 dpq-x=H
B=5 -x =-5
= 3 -3
@ c-3Te™ o ®3-o0=4
C_ = -3 -2 -0 = |
C =20 @%—n*‘-ﬂ o=~
5\5 }%\5 -n=-1l
=T = e S
20 = A iy ® 12-n = -
3 ¢ - = =3
QTR @1=5-a o
3= n+13 R
@ oS = -5 -8
2= @ 2=3 -x%
YiZ & -3 -3 e
: . @ -6=3-n 5_;
@D 9=x+7 -9 =-n E
5 = n=9 e
Gn+l=| 3% .}
+4 +4 = N= -
® -0 =¢c -4 Lt 3
~b =
~b=C © x+6=-6°
= =0 o= =]

S



UNIT 4: ANSWER KEY

Solving ‘Equations

- ~dL
D un+2 =26
n =24

LI_
@) an) = (H)(4)
24

2Zn =10
E)(zn)=&)0)

= "5

o B
n=5

=2x= |0

E5)6ax) = E)19)

—2a0 =15
£5)(F2)=3) (13)

15
3

o= =0

[

i 1 ER
® 3x+2=1l

Bx=9
($))=3)X@)
h=

x= 3

@ 4a-32-15
Mo =)
H)(Ha) = (F)(-2)

PR =

— —

F
a="3

o o
@'gi 2n +4
U4=2n

(3)H=Ez)(2n)

-159 = 3o

E)-5)=(5X%a)

S5 _ o
=

o=-5

@ GEBx-G
e 5X
(&) (0) =(E)(5X)
O=%
x =0

®az -4n-3"
2 = =4

() =CH)4n)

=
q-—-ﬂ
n=-3

iNTHE
VeLLOW PAGES
OF LiFe
..M LiSTeD UNDeR

—2b=



UNIT 4: ANSWER KEY

Solving Equations

@ Bn yg=-3"
5n= -l
(5)(bn) E)en)
n= &

® H-‘j 6O\ :-J:H
—ba = -lb
Q)Hza) Z)E0)

o=

I

Q.=

O 8#?‘-211 -'-”BFE
-2n =0
(D n=E)0)

Nn=0

® 42ux=-I6"
~liy ==}
- = (Z)E)

= ! =1L
=

™) I+ $a=20"
Za.= 18

EXs)= (3)08)

L T4
Gt g

3. COMBINING TERMS

®2n-5=4n-8-n
- e Y
3-“-5.‘: ?-‘II‘"I—E
_n_a*i __3‘4'5
- =-3
n=3

@) S5x+6 =ax+14+X

Ly A
BEX+b = 5x1+';'-+
e
2% +b =14

ax =2
G2 =(%)E)
=2
x= 4 (’E}’F‘:E"W
'r'ltND
50¢(1]

75¢lil
‘ |
e

@G;-F‘-ih n-)3 +5n
f:>+ 1—’m = Q;nn -\
6-.1#- . —iJ_

-an = -8
“LY(=2n)=(5)18)
n=1% n=9

® n-5 +3n=6+In-2
— "M

.--'1“'
UNn-S =TIn-a

—2n- gs__ %5
()(—sm} =-()3)
l"\_——;‘ n=-|

@ 2a + 5-Ha=3a+3@

28+ s =355
-5 <

o

a=-3

‘4 ——L @H4a-6=2a-5+1a

G)10-3a =a-I4+Ha
.r? #EE:L
I0-3a =5a - 14
25 ~10
10 =-8a = <14
-Ba = -4

G)sa)=F)2)

o= %t a=3

oG = oS
-J.a*f;&; = i
-2a = |
(,)(_h) =@0)

=3




UNIT 4: ANSWER KEY

Solving Equations

@ 3x-H+Tx = 18- X
% +%
IOx =4 = 18 —%
-
% -4 = I‘BH

N = 22
Y1) = G2
Xz 37 x=2

@ s5n=3n-4n+323
&= =1 +38
bn =28

&Y en) = (F)(2)

n=g o3

. 4ou ARENT BY
ANY CHANCE GiVING
My GUARTIAN ANGEL
EVEMiMGS AND méaﬁﬁﬂNDEu
OFE ARE Y0ouU 27

@ 2x-3+T=X+o+(2)
27 = K44
b =4
x=0

@31‘5 -n+44= -:l._SIf""I

21’1-\-4 — *1—5*"?
Fnds 27
n==b

B)) = ZY%)

n= =l

® 8—.:1-1'-'—} =20-20

e Y45 k-
12 -0 = 20—
N g,

|2 —3a=-&

@3><—~5x+.‘1 x+3
—:2:-:4—1 }'H-E"a

~3x=|
()= (D)

X="5

B -2n-523n+T-n
2) -1?: i%’\ﬂ"!"—?
=73
-Hn =4
C) )= )

N=yg wne-l

(5)4-2n+6 =8 +n -
N =¥
IS5=3n =7+
A5 5
52 =7"
—Hpn =-2

EF)m) =(F)8)

=% S
n={ g b 8

© x-6 =8x-5~X
- Py
X -6 = %5

@ 3a-5+a =0-7+3

A N
Yo 5 =a-4
ey
30-5"= -4

2o, = |

(3)X2a) =3)0)
o=l

@ ZNn-6-5n =T7-N+3
o = oems
-2n &= 10"

-an = 1
A )n)=GE)06)
n= ".!E n=-8

—2% -



UNIT 4: ANSWER KEY

Solving Equations

@ 12-5%+3 = X- —9+ax ?f“ =9 G5)an)= (1) GH)
5-5% = 354 @)an=(3)E) =2 n=2
S-8X = -'"-:1"}5 n= ﬁ n=-3

gX = -4 @ 5(:3.!‘1 -'-I)—I'B—"l‘ﬂ
et - AR, efaci
x=% x=3 i 35 e s TS

@ Nn-— S—Sn ‘-{-ln-i-l

-4n- e = 6 1”
—2n—8 5"(0*3
L
e =E)04)
= -'r;.'t:'t Nn==1
_ = & =
®) 6(2x-2)=6
O 2 Cﬂ"('H\) i ;Lt |AX— 1§26
P, +.1 ==
2:* o 2% = 24( 2B x-3) =-§-3X
)(12x) (24) o ek
&j(b‘) ( )('45) =2 %x=2 e b b
om et - s S ~Tx +b= 8
@uGn-22=16 gkt
- iy =(3
e b Ljn? ;111 MR G) (‘7’3)‘(?)("“)
3n —rm:—:_l 12n =24 =l g R
continved conhnue 2



UNIT 4: ANSWER KEY

Solving Equations

@ Sn=) = 2&3““1)
r—'{h:“ = bn-—-4y
N _l.ﬂ,* _l_l-t-‘n
-n==3
Nn=5
gxF2 =8 (3x+5)
vk -t
3}: Ay = 2. 420
~Ox +3 = 207
—qx =18
) =(3)(#)
o= '%E K=-g\

@ G = ¢ Cﬁ‘5‘)

2le = ~28% 10

o2 10™

3a =16

(5)(3a)= ($)(16)
e

a= 3

(2 2n+5 =3 (2n+2)
27 +5 = b6
“Hn+5 = 67
_‘-h,q = |
(—#X-FLM) = (_']"F)O)
es 2

@ @x-203x+2) =0

Ex-6x-1 =0
= ae™
2x =4

L) (2x) = (E)#)

x=4 %=

@ Q=D 2 E—RC}Q'!‘*LI')

3x-3 = 5 -ax -8

ex et -3

B5x=0

E)(5%)= (5)@)
S

= 2an = 3 (2n-1)-6

~e¥ ~bN

2n = bn —-|%
~Ypy = —I8
D)= G)EE)
s 5 =,
1= & T

@ An+4) = A (’ﬂ"’)'l

3n+12 = An-2A-A
aﬁm.;. 3 = l;'\h'q
n+ )X = -y
n=-16



UNIT 4: ANSWER KEY

S o[z}ing ‘Z;qltationg

@ 4a-)=3-2(2-24)
o -4 =3 -6b+4a
‘Eﬂ:qf'-l = —3+L}¢f‘“

Yo L=

._3;’"*

Ha = |

&) (a) = GE)(1)

o=

I.I.

® 6+2)-2(2a+) =0
ba+) = Qa.-3=0
) =
=da ==4

E5X0) = (3))

a:% {']_:_9)

REVIEW & PRACTICE

An=1a

(45) (3 rf) = (45)(17)

Ghi o ke

-b

B
@ S5x+6=-9
HSyx=—|5

(£)E)=G)s)

—b = 3a
H))=3)GEa)

—b
3 a Q

- -3
@3 g-2n =0
-2n=-%

) RN ED)

@ 15=4x=9" ® 4n-3= 7"
. 4 =10
QR X

x= g4 %= n=2 n=%2

®3”51"4—"1 =T7n +12 =N
2 b= en +1
~4n +4 = ]1"“‘

Hn =%

G)e) = (G )(E)
n= _ﬁ A

) 2x —5-3x = 9+ Hx+]
ax%s = o+uyxt
Ex-g% oS
EX= 15 o 2
B)E)= @GS x=Z x=3



UNIT 4: ANSWER KEY

Solving ‘Equations

® Hao+5+a=-8+3atl
EAE = —T+3a®
20 +5 = —7"°
200 ==X
@)aa)=(£)2)

a=% a="b

Zy) b —BN = -4 +N-X

2R~ = =11+
—In-6%=-11"°
—2An=-3

3=
n=%

@ 14a-| =q+3;?>q+t+
IHAL) = - 28+

b =12
(5)(1ea)=(76)(12)

. e
O\—m a_'l"l'

21%14-5 =én‘;r"5 +21~8
20 +5 = 8A-13
“n +5=-137
~bn=-1%

(B)eon)=(T)E18)

= LE- nN=2

5(1&—'5):5' ~
In-15 =q"
conhnved

2n=24

Ean)=(3Y24)

= % N=8&

@ -2(4)=10
~& ~&
2w +&=10

@) 21 -3 =4(n+3)
b
Bﬁg%:@ﬁ%nz
% +3
-5n=-3= 1A
-5 = IS

(L Y-5n)=2)(15)

G S
N="7 N= )
@) 2a+6=-4Gat)

ypres
2 b=~ 0=t
Az
Ha+6 s -y
I4a.=-10

(5 4a)=GE) FO)

e
O= " AFF

@ Hx 4+ = X=32xH)

U +Ho = X ~6x =3
Lr?"‘(:v: “‘5‘;:5-7(3

continued

SoU DONT UINDERSTAND, ZiGgGY.
we DONT WANT YOU TO PLAY
THRDBASE.. i
- WE WANT (oU
To BE TRIRD BASE !

dx =~
)@ =(E))
A= “a- w=-)

@D 2n+5 =3n—2(4n+2)
Zn+5=3n—8n—4
W5 = sh-t
Tn+S = -i°

T =—9

&) ()= (3)69)

i e




UNIT 4: ANSWER KEY

Solving Equations

@ Qj (lx+|) = 3("} )'5-) ~-Ga = |
PR b (B))=(EN)
5% +6 = 12 o=
IBx = b |
(3)(5%) = (,5)@_,) @) x-a(x-5)+3% = 4 (2x~2)
i”] X -2 +1D+2X = Bx -8
X=8 K'—"‘g 2}{5_{_'0 &5 B
= x 8
—ox+G = -8"
G 2(n—1)2@n+)=> B il
- - - =2 A
e ()= ()8
DIIER - ] e
x= =3
-yn = I D%
X Sl
e =
1= _1}(} JUST WrELéAWW THAT COMES ON

@ H(2x+3)-A(*-35)=0
Bx +H12—2x +10 =0
D G o ke
G% = =24

(£)ex)= (5)B2)

@ 3”“.2.04—"‘):‘ ﬁ—?_}(j_ﬂ-v,..l-})
2y —An +:J.; N—evn =1L
™
ﬁ@l: -Sn=la
Gn Pl v o

G2 3a -2(Ha-1)-a= 3@ +H)
2a -ga+a—-a=3a+3

—00%Fa =303 =)
LINEERS Bien)> (B
continved W= % M\ = 3



UNIT 4: ANSWER KEY

Solving Equations

PRACTICE TEST #1

@® x-8 =12
=1

@ 2n-7 =1
2n =2-4
L(2n) =EC9)
nN= =2

-+

C)gﬂ-§€:ﬂ75
20 = =y
ﬁm}:ﬁ("ﬂl)
= e b}

3 - = -3

-3n = =9

“4(-an) =3
Nn= =

® 4@-3)=-20

Ha-1TE2=20"*
Ho= =%

f(40) = % (8)
o=

@ 3(4n-1-2(n+5) =6
'.lh-:"_';-ln—FO:f"fo
]Dn—lgl%'hﬂe’
on="7
+ (o) =3 (D
n= 7/|‘D

PRACTICE TEST #2

-1 =3
D ar7 =

t= =il
® 3x-o =22
Ix = —\8
Jg,'c-?:)t) :'L("‘IE)
X = -5
B -1 =201
Hn = 24
H(4n) = 50
N= b
('-:D 24, -3= 3&-45-75\"0
2583 = -44-15
o -3= -15
bo. =12
L (ea)= 3 (2)
=
B 230Gn-1)=18
bn-37= 182
Ly = 21
+(en) = (21D
n=2%="%

© 2 (9x-3)-3(x-8) =7
gx-b=3x+15 =7
Sx+4 =77
5x= &
=(5X) = L -2)
x="/5
-2 -



UNIT 5: ANSWER KEY

Problem Solving

1. INTEGER PROBLEMS

+1 +1
D n=Il=-8
Nn=b

q
@ ‘neq =™
n=9

@ n+7=y"
Nn= -3

@ n+E=)=14y
Nn-2 =4t

rii= 1
® |13°

—
—
—

m_gﬁ'h
| & N
s | 2
-9
@ -3 L n + 9
~2=n
1= =2

@ & Hn-&*

B = Un
(£)(®)= (3)(m)
-LT:

n h=2

-9 = 3n
3)Fa) = E)GEn)

Dzn ns=3

@D2n-7=11"
an= 18
(£)z2n)=G)(8)
ﬂ:i;% N=9

© 4n +(10)=18
Yy -0 =1&7°
Hn=2&

3)(4n) =G )(28)

— 28 A-
Nn=4 N=7

@ qhi An = —G;q
=xns—i6
(F)n)=(3)A5)

n=12 n=5

+|+
® -4+ =-16"
2 ==l

G X2n)=(3)H2)
= e

K="

3 IH-'-:-E Garb
20= ©n

£)(20) = (£ )(5n)

s=n n=4

i e
G My ﬁeeaﬁos?
“THe RAT RACE !

e

- & -
@ 8- =6 =
-Hp = -1

(%) )= (3 ) (=)

n=& n=3

%
E -g—6n=-20"
—en = -l

(B)n)=(F)(2)

n=1% n=2a

® 3% ==
Hn =-8

F)n) =G )-5)
n=-2

— =



UNIT 5: ANSWER KEY

Problem Solving

—“Hn =%
G5)n)=(3)(e)

n= 'E N==2
©) ‘3 BJr{flﬂﬁ Em —j
g’ -G = -7
—Qn = -4
2)an)= (7))
n=7# n=i
@9 Hiy? 3n+4q
—an +‘?= lq
~dn = &
() an)= (=) (12)

n="% n=-6

), FORGET YR
TROUBLES

2.COME ON

Laazrm

P AT
THINGSTO0O
TODAY

2. USING PARENTHESIS

Al
®3n+d=31"

2y = &7
@)= GX=1)
= j—‘g n=9
@ an+ C::-hh'—‘ -irn
2Zn=-8
®)n= G)CE)

n:T-;_! n= —4

P P -
Hen=G)E)
:"_E n-—q.

@Dn-1)'=-s"
n=bt

® 5n — (n-3)=27
En-n+3=27
By 4% 27
ua =24
E)m)= G)W

F“::Jﬂ' o
L}ﬂfg

@ Hn - (n+3)=18
Hn=n-35 =
Continuved

3n ~3§ 18"
4N

)(Em) G5)@)

i
'ﬁ--; n="7

=
2]

@D 3n ~ (@n-2) =14
In—An+ai= g
Pra T
Nn=I1z

@ U — (2ﬂ+5‘) ==
4 —2n =5 =-l
2N —Ea:f- I"H5
2n=-b

(1) (@@n)= (B)Ee)

n="=2 n==3

@ (h-2) ~@n+3) =7

N=2=-2n=-3=7

_h_ﬁ"‘s. 7+E
= 12
Nn=-14

© (@3n-4)-(n43)="5
Zn-4-n-3=-5
e T LA
2n =2

(an) = (£)2)

n:-%— n= |

contimoed



UNIT 5: ANSWER KEY

‘Problem Solving

@ 2n 42 = 2n+8 @ Zn+x= (h+3) - @n-7) LQS

|
|
|
|

m_._;._-. 3' Zn+2 = NF3-2n+7

n==6 5m'1: _le-n+10 /

: Un +2 = Io° POU NAME iT,..
@ "*”l'lfé: 2 + 4 G $ IVeLOST iT )
== g +e !

e £y = G)(z) Q

2yvy = 1D = T =

$)(2n)= (3)(0) L SR | \

Y= ‘—19 Bnao

= -2 pacend
® @V‘i'*l)— Gn=4) = 4y REVIEW & PRACTICE @ Z=2n =23
Zn+21-2n 4 =4n -2n =I5

N+6 =4 | 5 “LY=2n)=GE) (5
b= 3n @ n —_5 5: 5+5 ('-"%:)‘(Eﬂ?q:f??( )
(BX0=(5)(sn) R R ’
—%-:n n=2 @ﬂle;oz *‘73 _gﬁ.zﬂ:'nfb
ﬂ_;" S — 1%
@da=n-7" (3)(2n)=(3)(8)
lb=n n=lb n=% n=9
@ -GEn+g®
-14=n pn=-14 @ 5n-(n+4)=-8
® ‘-}ﬂ +7=ad’ Bncn e
=16 4 -2 -8
)(?ﬂ) () 06) e
n=2 n=4 4)(4,«):({;)(—4)
s -
S (f@.'Zr'm—-‘ﬁl'?-“l‘iﬁI g3l
| )= (+ 2n = -2 B et
@8- (3)en) d)ard= (£)(2)
2n n=-4 n=% n=-|

..3'?_



UNIT 5: ANSWER KEY

Problem Solving

© 2n — (n-5) = -4
2=+ 3 =h
N +5 =-47
==

M (n+3)- 3Bn-2)=7
Md =3nEd s

AntEB =T

@) @n-5)-Cn+2)=1)
2n -8B -4n-2=1l
—an-=-T7=11*7
-2n =18
(D)= (3)08)

I"!:rl‘.% ﬂ:"q

L =2
@ 2n-1 =2n+)
==

Nn= lx

-1 =2
™ 4n+5 = 2n+3
L) -\-5_5: 3;’5

2 =~
Hen)= (£)C2)

n:_%_' i=-)

@ (n+2) - Gn -5) =N=7

2ﬂ41—_&nn+5 =nN=-"7
-n+7=n=1

-2n = -4

5 .!i"-*- n=7

@ (en+10)— (n+2) = N-4

Gn+I10 -n =2 = N~Y
5A+8 = n-4

Y4n +8 = -4

un =-lx

£ = (3) 62)

n= -2 nN=-3

n+) —(N+S) = 2n-2
2+ -n -5 =2n-2
M =11
mi—l = 2n-2L
—ﬂ _]+.:_1+1
- = =|
= |



UNIT 5: ANSWER KEY

‘Problem Solving

PRACTICE TEST #1

@ 4n +C2n+5§ =35
fon+5 =35 >
by =30
Yoo (on) = & (20)
=

® (n+d) - (Bn-2)=12
N+44-3In+d =12
-2 + G520

-2n =6
Y2 (<2n) = "2 (b)
n=~s

@ Sn—(2n+4)= Tn-12
Sr)' -a2n-4 = '?n-li.
3= *7?} ?l
=iy = g T
=iy &
=) n=

O
@

©)

PRACTICE TEST #2

=y

=
N+6 =2
n=-4

Zn __3+3= 7+£
2 =5
30Gn) = 305
Nn=5

+4
Y} 20 =10"

2n = I
S =z04)
n=7

2n - (3n-3) =9
2n-3n+5 =9
—n+5=95
S

n=-4

(3:*1—2.) (n+4) =
3,4 T "10

zr—m
w}"-"-}
£(n) =5-4)
¥i= ol

2n = (3n-3) = n+I3

—ﬁﬂi--?_, f ﬂ-ﬁ-!'ﬁ
—2an+5= 1373
-2n = 10

vi ==8
~39-

-2 (an)= "% 00)



UNITS 1-5: ANSWER KEY

Cumulative Review
@9 DHEEY - @ 3-0°

: L D+ (12)=(¢2) 8-
@ beirE) =2 ) +(0+ @)= 12 o+ 1) ==9

@ G+ =4

@) EB)-(-) e @) @ (- yt

3 ED)-3) (B -(=D+EH) @) = (=)
D+ (BY == S)+(H+ D) a)- (-2)
9= -5 o) + (+2) = |
@ G %) =48 G ;
® (&) - %)
a+(a) =) (AT e @ a-b+C
RIS SNoOE S AT AmADY s | E3) =~(-D+ (2)
© PHx(3)=12 m Yy %} )+ +ED =0
=1) rire)=" ot (i 1B
@ (=7)+G6)=-) -,i_j-éff ﬁ‘%f;z____;f i-L) @ i B
@ %) -(-4) oy .;r-% 263)-3(-)
GO+ ED =12 k& Ge)=-(3)
- )+ (+2)= "3
@ (-3) +CN) ()~ +C9)
D)+ (=D + FO)+(=8)+(4)
(+b)+ (22)=-1b
o
®© EENE) GO = -12 @ a " o
D+ D
® 7=~ @-55:—125 @)+ (3) = 12
@8 =g, JOrF e & 3¢ - 2bc
G224 ®i=w 3 (2) = 2(-13¢2)
()~ C=H)
@ =27 @ -6*=-3 (3% CH) =10

® =)
_.|_|D_



UNITS 1-5: ANSWER KEY

Cumulative Review

G 3o+
3, (24 =0)
2(-4)=-12

@ 2ab?2-C
2 REN-)
220D = (2)
() -(2)
) +(E2)="8

G cCarbd™
@) [E*ED (=1 ))1

@) (-
2016) = 32

@ % b3 -20%
2=D2-23)°
2(-1)-209)
(~2)=(18)
-3)+(-18) =22\

+8 +2
@ nN-2=1S
n=23%

+3 3
@ 2x-3=13
2% =lb

@ (2x) = G)(16)

X= %

D) 151‘ 3a= -E;II
-3a =-S5
(=) (30)= (3 )HB)
o=5

@ '-\.i 2n =10
-1n=l
e =@)E)

Nn=->

Yx-3 =2 -3%x+6%
-2 ~3
-3 =2 +3K
+3 *A
K- =2

Y=

@) —4-2n +7=-5n-9
+5 +5r
-0 =-Bn—H
_3
3t3In = *-Ct_a
AN ==

&) Em= (F)A2)

n=-4

G 2(3n-1)=22

+2 +2
GYi=02 =232
bn = 24

Eon) = @E)(24)
=

@ 3 (o )-3=23a3)

Go) 12-2(n-3) ="
2 -an+b =—4n

+3r =1¥
18 —An =~
18 = -2
(9)(18) = )ezn)
-9 =n
iy =y

@D 3n —2a(Sn+2)="2n-!
2 -10n “=—2v-|
-_f:rﬂhlh} = —;nﬁ?-i
B = -\

-5n =3
Cosm=E)E)
n= "

®n-7=-2"
n=9%



UNITS 1-5: ANSWER KEY

Cumulative Review

B 2 +% ==

An=-15
E)aEn = (3)E3)

h=-5

@) 6n ~ (n+2)=13
eN-=-N-2A=13
S et e
5N =15
&)(sn) = (3)(15)

NnN=3

€5 (n+) - (2n-2) =10
N+Y4=-2Ln+2L=]0
-—V“a-l—Gb:_ ir_;h

-y

n=-4

@ (42D = B =n+5
N+3 -3n-4=n+5

-Fi i
~2n-| =n+S
-2 - ':':5'1']
3N = b

(2)(-2n) = (3)(6)

Nn= -4

@ (Hn+2)-(@2n-3)= 2n

Ly +2 —4n +2 = 3
-1 —2n

2N +5 = 3n

=N

n=%

PRACTICE TEST

@D (3)-(8) @ @)»Ey=ED
—2)+(B8)=5S -k

B 5)+2) -~ -G2)
ES) +ED+HED + )+ ()
D+ (1) = ~ A

Q@ ()-C2)+ED-GN -
(—)+ (+8) + D+ 7)) +(+4)
G2+ H) =-2

® cvr=q ©@-2%z-i

@ R =) *x (2D
-3)~(-12)
(-2)+ #H)=19

- =t
Gy = —9
-1+ )+ (=9) = -14

@ (-2)(-3) - D+ ()"
(=2) (-2) = (=) + (1)

_Lﬁl'“



UNITS 1-5: ANSWER KEY

Cumulative Review

()= 1D
(L) + (D=7

Ax -2 w2
2(2)-2(=2)2)

(o= (12)
[:Q_-,) +|{1—1:’.) ==l

D 2 x 37‘ = Az
2 (2)(=2)*~3(-3)
2 (2)(H) —3(-3)
() = 9
(lo)+ () =25

@ >(y+2)+2x%
2 (+E))+2(2)
2G5)+H26G)
(~15)+ (W) =)

@D xyz2-yvy?
@R -(2)"
EY2)2) -8
O2)—-(-8)
OD)+(+8) =20

@ \H- 2n =N ¥
13l = 7Y
~4n =-)2

(3))=G5)en)

Nn=23
® R(x-'_%)-"—i{)
2x— i : --!D
i = T
D2x)= (D))
= =2

© a-3(a—H)=-Sa+3
O —3a+HA=-50+3
+56, +5a,
24 +A =-5a+3
== =\

200+ < 3
2a.=-9

3)E)=E)F)

= =%

@ E';[;ﬂ-—l)-—-(ﬂ-ﬂ-l-l):ﬂJr}
g =3 =~ =)
SN = .511

+'.F
e L
Hn=2

1) (4n)= G)(8)

nN=2

® 2n-t=g "
N l:L
() an)= (2)(2)
n= G

@ (n-3) = @n+2) =

h=3=-4n-2=|
o = =

@0) (zn+) - (5n-3)= 2n-3
Z2n+4-Snti=2in-8
"'3#—1—‘?: 1#—-3

7 -1
—S=n+7 =8
-5 =—I5

GEXesn)=(2)6)

Nn=323



ALGEBRA SKILLS: ANSWER KEY

Cumulative Review

REVIEW & PRACTICE

D D D= @ NP = |

@ ¢+ =)= 4 -3% = -9
& Lai-ead @-7* =
) +F2)=9
® uy= o
@ G x(5)="25
@ -2+ = -4
) (4)- o)
)+ (4)==3 @ L) -
: )+ O2) -9
@ L) x(-5)=30 D+ O+ ()= 12
Q@ o) +Grs)=-3 @) 8)-3)+HEN )
1 =2)- (2)+ (-5)
E:_:g_é:%: L ey+ (3)+E5)=-10

@) (-2) +£5)-D-GN+E2) /("“x-\
D +HEFEDHED +H(2) S x :g: ® s
G+ o) =-12,

(2)(-2)E) (D (FH) = =48

@ £3)° = <8 @D N7 -3
. ey N~
® -3 i (-D+ED=-10
- D -
e = @ - CNE)?
T = (=)=
R - (32)
CO+ (-32) =-3)

@ x-9 + 2
=2+ ¢3)
D+F@R)+ ) =2

@ 2x -39
2 () - 3(-2)
(=2) — (-%)
(2)+ (e)= Y

@ x*+ xyY
e+ ED(2)
CV)+ 62D
cH+(2)=3

@ 3z-2y2
3¢3)-20DE)
-a)-C2)

EeD+ (=) =-2)

€ 2 (x+yv)
3 (N+E))
ifz2j=-9

@ thjl -2
2 DEP- 2
2 () (4) = C3)
(-8 —(-3)
(-g)+(+3) = -

- -



ALGEBRA SKILLS: ANSWER KEY

Cumulative Review

Go Z C)H-gj)l :
e3) (D+ )™
=3) (-3)*

G2 = =27

€)) 553 -2x*
3EP-20)
3E=8)~20)
=24 —-(2)
(-2 +=2)= 26

45
& x-5:-7"

KT =L
+4 e
@) 2n~u=1)
An=1%

)Gy = (3)(3)
nN=5

-2 -2l

@ 2l -2a =13
k= %
R)R0)=E)#)

Gh= M

6D 6 2x =15
=Zx =z 9
220 =(B)E@)

T -

(30 2n-H= 3-4n+5

2n-4 =g-yn"
&n—'ﬁ—‘sﬂ
bnz= 12

E)(bn)= @X02)

n=2

@ —@=3x +9 = =Tx~)|
T +2x
I =2x = ~ -1\
Tx= ="
Hx= -l
(F) ) =(F)E2)
K= ~=3

& 3(2n-2) =30
A

{bn--ﬂ:= 5*:5”‘
Evr = 26

(Yo Xon)= (h)26)

n=6

39 4(a+D-2 =3(4a-2)
Ha+Y-2=laa-b
TN -l
o+ = I2a—-0b
Ba+2 = G
_ga - —'B
(e )-8a) = C4)(-8)

a=1

9 I3 +3 (Gx#H) = O
€+ 1SXx+12 =0
353?145x =0
I5x= -3D '
(/s)(15x) = (/is)C30)
e

@) Sh-3@n-4)="4n+2al
En-bn+Hi2z=-4Yn+2|
+4n +4
-N+12=-Yn+2)
A+ =2
an=9
(/3)an)= (A)E)
N=3
-] k= -l
@ n+r2=-2
= -4

B un-th+o)=-15
Hr-n-b =-1%

An - &:ﬂ': -JSHH
An==9

(/) = (R)E9)
Nn=-3

-



ALGEBRA SKILLS: ANSWER KEY

Cumulative Review

@ 2n - (n-3) =17
Zn-n+3 =17
_n"ﬂ+3-:3: I"?-3
T =14
CY7)(m) =AY
=2

@ Gn+)- En-5)=1l
Zn+a-5n+5 =1
=2 +7*1: ”-?
~-2n = L
(V2) (2n)= Cl)( 4)

n=-x

Go) (n+D) - 2n+3) = (N+5)
N+E21-2n-5 =2n+5S

= -ry
—-N=-2=nN+5

- +3
-2n -3.5= -1

== 8
(='f2)(~2n)= C2) ()
n="4%

@D (2n-2)- (5n+1) =(n+12)
Zvri—3 -Sn-1 =i+
-y '__-n
“2n-d4=n+IL

—gn - & 127

~-4n=1b

G = CH)06)
Nn= —Y

i

PRACTICE TEST

M (-5)-E=D)
D=7 -3

® )+ (-5)-(D-(+D—-(-8D
)+ ) +GED+FENHE)
R+ (1B)= =3

@ (-6) -8+ -5) - (+9) - (-2)
(-6) + (38 + S+ CA) + G2)

(+io)+ (-20) =-10

® =64  ©-2"=-l6
@ (-5)-[7) x )
-5)- (28

(~5)+ ((28) = -33

Caye- - 4*

H-CEN -6
@) +C1)+ Eig)
B+ (k) = -1)

@ E)x (=) x 1)



ALGEBRA SKILLS: ANSWER KEY

Cumulative Review

® (NEH -+ P @ 3n-2)=-12 @ Gna)-(ent) =5
e S An-G=-12 S o i
(4)~(6) 2n= b T
CD 8 =4 ()en)=(5)(Eb) e
== :
30 -2bC : (1) Cany= ERE)
3,(2)-2 (R)(H) = 3 e ik
(—ﬂ:j —‘C-'J.*'*) @ .2)(""364"'5-) --L'IX'?"
(—o)+ (F24) =128 2::0-51& HSIJ:-&*I
23 S o]
@) 2ab™-3c¢ VT
2@(-3)*-3(H) 7% = =14
230y ()= Y
6)-02) S

(~36)+ (H2)= ~H&

@ 2(nr2)-Gn-5)=t3n @ Bn-)- (@) =ln)

@ 2(b+c) +2a
3 (C2)+ ) 2(-2) Zn+g-2n+5 T | 3vy gl bqﬂhir"-4
3(D+2-2) -ﬂ'fp-q = |- 3\,-, n —1::}:;}.«-,_4
(z>+ ~H=-) RN B Y. +- "‘\HO
2n = % ST
® abe + c* k) @ny= (2)(-8)
R + (Y E..]l,__) _:j )Em=Ch)E)
N= -4

~DERDE+ U)
2+ ()= HO : =%
5n +53 =34

®|5 %':._;5 Sn = 20
=5 5>< *—S"E (/s) (8n)= (Is)(3o)
Eree s
(Ijsj{—Ex) (-'e)(20)
X=4

— 47 —



